’ What did Jacob do then? (‘ Children’s Worship

Bulletin
Ages 7+ Genesis 29:15-28
Fill in the missing letters from the pattern. | Jacob, Leah and Rachel
Then complete the blanks in the passage below. '
DAXBAZMPOREHGVUFYQDCJILKNXTSWREN Jacob went to live with his uncle Laban.
LORHG=__  7.HGUF =__ 13.EMVU=__ e aney Fiachel. who was Labans daughter
2.XAZ =___ 8. LKXT =__ 14.SWEN=___ y ’ 9 '
3.CJLK =__ 9 VEY =__ 15. QB =_ How did Laban respond to Jacob?
4TSRE = 10.JIKN = 16.REGV = Use the code to fill in the blanks. Q
5XBZM = 11.XTWR=__  17.YQCJ =___ (Q LQ
6.NXSW=__  12.VUYQ=___ e
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He the week with Laban said, “It's
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What happened then?

Shade in the shapes that have a # tofill in
the blanks below and find the answer.

Laban tricked Jacob into marrying
Leah instead of Rachel. Jacob was upset and
asked Laban why he had deceived him.
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Write the word that means the opposite of the one given.
Then fill in the blanks below to find Laban’s answer to Jacob.

SRIAC

onya__ _ _

served

years to get
, but they

od=__ wake=___

11 10 12 8 3
love = o gve=____

2 1 18
down = froon=___

16 15 7
noise=2 ______ de=___ _
4 6 9

rise=__ shout=w ______

17 14 5 13

Laban replied, “It is not our custom here to give the
younger daughter in marriage before the older one.
Finish this daughter’s bridal week;

8 6 9 3 11 10 12 1 2 3
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